Physics Review



Name: _____________
What topics do you need extra review on?

[image: image1.emf]
1. Which of the following is an appropriate unit for velocity?

A. s

B. m

C. m/s2
D. km/h

2. Which of the following symbols represents a change in quantity?

A. β
B. α
C. γ
D. ∆
3. The rate of change of velocity is represented by which of the following?

A. s

B. m

C. m/s

D. m/s2
4. The following distance–time graph shows a 100 m race among three friends.
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What was the outcome of the race?

A. Al won the race.

B. Bob won the race.

C. Charlie won the race.

D. The race was a three-way tie.

5 What is the acceleration of the boat using the data below? (round to the nearest [image: image12.emf]one)
A. 1m/s2
B. 2 m/s2
C. 3m/s2
D. 4 m/s2
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6. Which of the following describes the situation shown above?

A. Object B has a lower velocity.

B. Object B has a higher velocity.

C. Both objects travelled the same distance.

D. Both objects started at the same location.

[image: image14.emf]7. The graph above shows the displacement of a skateboarder moving south on a sidewalk. What is the average velocity of the skateboarder in the interval between 2 and 4 seconds?

A. 0.5 m/s [S]
B. 2 m/s [S]
C. 4 m/s [S]
D. 8 m/s [S]
Use the following information for questions 8 and 9
The data represents the motion of a girl riding her skateboard along a smooth, pedestrian-free sidewalk. You may find it useful to graph the data in the table on the grid provided.
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8. What does the slope of the line represent?

A. the distance the skateboarder travelled

B. the average velocity of the skateboarder

C. the path taken by the skateboarder, as she is moving up a hill

D. the most likely positions of the skateboarder at the times between the recorded data points

9. How far did the girl move during 3 s?

A. 3.0 m

B. 4.5 m

C. 6.0 m

D. 9.0 m
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10. Use the data above, what is the displacement after 5 s if the object continues to travel uniformly?

A. 5 m

[image: image15.emf]B. 10 m

C. 50 m

D. 250 m

11. What distance is travelled in the first 15 hours in the graph to the right?

A. 0 km

B. 60 km

C. 120 km

D. 180 km
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12. Ray and Mark are running on a track and a sample of their progress is plotted on a graph. Which of the following statements are supported by the graph?
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A. I only

B. III only

C. I and II only

D. I and III only

13. Which of the following statements describe the relationship among displacement, time interval and average velocity for an object travelling in uniform motion?
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A. I and II only

B. I and III only

C. II and III only

D. I, II and III

Use the following data for questions # 14 - 16
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14. The car has negative acceleration.

A. The statement is supported by the information given.

B. The statement is refuted by the information given.

C. The statement is neither supported nor refuted by the information.

15. Every second, the velocity of the car increases by 5 m/s.

A. The statement is supported by the information given.

B. The statement is refuted by the information given.

C. The statement is neither supported nor refuted by the information.

16. The velocity of the car at X is 5 m/s.

A. The statement is supported by the information given.

B. The statement is refuted by the information given.

C. The statement is neither supported nor refuted by the information.
17. Which of the following statements are supported by the diagram and experiment above?
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18. A ball accelerates at 9.8 m/s2 in free fall. Which of the following correctly describes the motion of the ball as it is falling?
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19. The following graph shows the velocity of a taxi as it travels to the airport.


During which interval of the journey is the taxi stopped?

A. from point A to point B

B. from point B to point C

C. from point C to point D

D. from point D to point E

[image: image11.emf]
20. The graph above shows the motion of a dragster. During which interval does the dragster have the greatest acceleration?

A. interval I

B. interval II

C. interval III

D. interval IV

21.  A Grand Prix race car changes its velocity from 0 km/h to 160 km/h in 2.5 s. Which of the following describes the motion of the car?

A. uniform motion

B. zero acceleration

C. positive acceleration

D. negative acceleration

22. The Eurotunnel connects Great Britain and France, passing under the English Channel. A train leaves France with an average velocity of 110 km/h and travels 37 km in the tunnel. How long is the train in the tunnel?

A. 20 min

B. 68 min

C. 244 min

D. 4070 min

23.  A car accelerates from rest at a constant 5 m/s2.  How long will it take the car to reach 10 m/s?

A. 2 s

B. 5 s

C. 10 s

D. 50 s

24. A motorist travels at 2 m/s and then accelerates at a rate of 6 m/s2 for 3s. What is the final velocity of the car?

A. 2 m/s

B. 6 m/s

C. 8 m/s

D. 20 m/s

25. A NASA space shuttle accelerates from rest to a velocity of 50 m/s in 4s. What calculation must be used to determine the shuttle’s acceleration?

A. a = 4 s x 50 m/s

B. a = 4 s / 50 m/s

C. a = 50 m/s / 4 s

D. a = (50 m/s / 4 s)2

Main Topics:


Distance vs. displacement


Speed vs. velocity


Calculations of velocity and speed


Graphing distance vs. time


Acceleration (positive, negative and zero)


Graphing velocity vs. time


Graphing acceleration vs. time�








